s

\_

COST ACCOUNTING INTRODUCTION & BASIC CONCEPTS
(Paper - Iv) (Revised) (HAY - 2018)

:- Accounts Group :-

T.Y.B.COM h

j[3 Hours]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.

Q.P. Code : 37223

[ Marks: 100]

2. Figures to the right indicate full marks allotted to the question.

3. Working notes should form part of your answer.

1. (a) Select the most appropriate option and rewrite the full sentence :- (Any 10)

1.

10.

11.

12.

If actual cost is more than standard cost, variance is

(a) Favourable (b) Adverse

(c) Nil (d) All of the above

Contribution = :

(a) Sales — variable cost (b) Fixed Cost + Profit

(c) SalesxP/V ratio (d) All of the above

Dock charges is a cost.

(a) Direct (b) Indirect

(c) Urgent (d) Production

Stores ledger contains a separate account of :

(a) Each item of stores (b) Receipt of stores

(c) Issue of stores (d) none of the above

Normal loss is .

(@) Controllable (b) Non controllable

(c) Ascertainable (d) None of the above
is not excluded while preparing cost sheet.

(a) Goodwill writtenoff (b) Provision for tax

(c) Interest on capital (d) Direct wages

The cost associated with storage are an example of

(a) Carrying cost (b) Ordering cost

(c) Labour cost (d) Quality cost

In contract costing, loss of material by fire is debited to

(a) Costing Profit and Loss A/c (b) Contract A/c

(c) Financial Profit and Loss A/c (d) Contractee’s A/c

By-product has sale value than the main product.

(@) lower (b) higher

(c) equal (d) none of the above

Cost Accounting is directed towards the need of

(a) shareholders (b) internal users

(c) external users (d) government

Material usage standard is decided by department.

(@) sales (b) finance

(c) purchase (d) production

Idle time is :

(@) paid by the employer (b) time wasted by workers

(c) not paid by employer (d) all of the above
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1. (b) State whether the following statements are True or False :- (Any 10)

=

Fixed cost per unit remains constant.
In contract costing, each contract is a cost unit.
In ABC analysis, ‘A’ class items are costlier.

Strikes and lock out is abnormal idle time.

Cement companies follow process costing.

Bin card is same as stores ledger.

Overtime decreases labour cost.

At Break Even Point, total revenue exceeds total cost.
10 Over absorption of overheads increase costing profit.
11. Profit on sale of asset is shown in Financial Accounts.

CoNoORWN

12. Machine setup is normally considered as batch level cost.

Particulars <
Salesman salary 64,750
Opening stock of finished goods (2,000 units) 76,000
Directors Fees 97,370
Indirect Wages 97,630
Repairs to Office Furniture 40,170
Work Managers Salary 1,19,470
Showroom Expenses 1,06,875
Depreciation on computer 1,21,290
Indirect Materials 73,190
Depreciation on Plant and Machinery 47,710
Advertisements 1,53,375
Office Salary 79,170
Direct Wages 1,01,000
Direct Materials 1,88,240
Direct Expenses 49,660

Closing stock of finished goods (3,000 units)

?

Additional Information:-

1. Closing stock of finished goods to be valued at cost of production.

2. Profit expected on sales is 20%.
3. Number of units sold during the year was 25,000.

Prepare cost sheet showing total cost and cost per unit and find out the total profit and per unit profit

for the year.
OR
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Need for reconciliation arises if costing and financial records are not maintained separately.

10

2. Following information is furnished by Rohit Ltd. about expenses incurred during the year ended 31% March, 15
2018.



Profit and Loss Account
For the year ended 31/03/2018

Q.P. Code : 37223

Particulars < Particulars ]
To Direct Material 20,000 | By Sales (6000 units) 48,000
To Wages 7,540 | By Closing Stock (1,500 units 6600
Finished goods)
To Factory overheads 5,460 | By Interest on Investments 17,700
To Office Overheads 5,250 | By Profit on sale of furniture 12,000
To Selling and Distribution 9,600
overheads
To Interest on Loan 1,400
To Income Tax 750
To Net Profit C/d 34,300
84,300 84,300

The cost Accounting records for the above period showed the following :-

s E

Direct Material @ 5 per unit produced.
Direct Wages @ 6 per unit produced.
Factory overheads were observed @25% of combined cost of Direct Material and Direct Wages.
Administrative overheads were absorbed @ 2.5 per unit produced.
Selling and Distribution overheads were absorbed @ 3.5 per unit sold.
Prepare the detailed cost sheet for the year ended 31/03/2018 and a statement of Reconciliation.

3. From the following purchases and sales in the month of March, 2018, prepare the stores ledger on basis of :-

(a) FIFO Method and

(b) Weighted Average Cost Method.

Date Purchases (units) | Rate | Sales (units)
March 1 1,200 8-00 -
March 4 - - 600
March 5 600 7-60 -
March 10 - - 400
March 18 400 8-40 -
March 23 - - 800
March 29 800 8-80 -
March 31 - - 600

Out of purchases on March 5™, 100 units are returned to the supplier on March 8".
OR

Page 3 of 13

2. Following is the summarised Profit and Loss Account of Aadarsh Industries Ltd. for the year ended 31/03/2018. 15
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3. (A) The following information is available in respect of four departments.

Q.P. Code : 37223

Particulars Production Departments Service Department
P Q R S

Area (Sq.ft) 1500 1100 900 500

No. of Light Points 15 11 9 5

No. of Employees 200 150 100 50

Direct Wages (3) 60,000 40,000 30,000 20,000

Value of Plant (%) 2,40,000 1,80,000 1,20,000 60,000

Value of Stock (%) 1,50,000 90,000 60,000 -

The actual expenses are as follows :-
Particulars <

Rent 1,00,000
Repairs to Plant 60,000
Depreciation on Plant 45,000
Lighting Expenses 10,000
Supervision Expenses 1,50,000
Fire Insurance on stock 50,000
Power 90,000
Employees Insurance 15,000

Prepare a statement showing primary distribution of overheads.

Weekly wages 31440

Weekly hours %48

Cost of living bonus per hour 310

Time allowed to complete the task (in hours) 80
Time taken to complete the task (in hours) 70

3. (B) From the following, calculate total earnings of a worker under Halsey Plan and Rowan Plan :-

4. Aakash Construction Company Ltd. has undertaken three contracts during the year and following particulars 15
are available as on 31/03/2017:-

Particulars Cont;act A Cont;act B Cont;act C

Contract Price 10,00,000 25,00,000 7,50,000
Material Issued 1,65,200 2,24,500 1,89,600
Labour Charges 1,02,800 1,26,500 1,25,500
Sub-contract Charges 84,800 83,900 43,500
Architect Fees (% of Work Certified) 3% 3% 3%
Insurance Charges 3,000 6,100 7,400
Work Certified 4,00,000 5,00,000 5,00,000
Work Uncertified 35,000 40,000 25,000
Amount received from contractee (% of work 80% 90% 75%
certified)

Closing stock of materials 9,000 10,000 20,000

All contracts were commenced during the current year. Total depreciation on plant was I11,200 to be allocated
to all contracts in the ratio of work certified.
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Prepare three contract Accounts and show the calculations of Profits transferred to Profit and Loss A/c.
OR

4. Pass necessary journal entries to record the following transactions under non-integrated system of 15
accounting :-

Particulars 3
Purchase of Materials 75,000
Direct Wages paid 40,000
Administrative overheads incurred 30,000
Selling and Distribution overheads incurred 20,000
Production overheads incurred 60,000
Materials issued to Jobs 35,000
Materials issued to factory for repairs 10,000
Finished goods produced 1,12,500
Production overheads absorbed by production 52,500
Administration overheads absorbed by Finished Goods 32,500
Selling and Distribution overheads Recovered on Sales 17,500
Cost of finished goods sold 1,25,000
Sales 1,50,000
Sales Return (at cost) 5,000
Materials Returned to Suppliers 2,500
Materials Returned to Jobs 2,000

5. Modi Ltd. provides you the following information for the month of March, 2018 about process P, Q, R.
Particulars Process P Process Q | Process R
Basis Raw Material Introduced (Units) 20,000 4,420 3,740
Cost of Basis Raw Material Per Unit (%) 24 28 32
Labour Charges (%) 3,43,500 2,93,700 2,44,800
Sundry Materials 1,55,700 1,00,160 89,480
Factory Overheads 40% of Basic | 40% of | 40% of
raw material | Labour Labour
charges charges
Normal Loss (% on total number of units inputs) 3% 5% 7%
Scrap value per units (%) 12 15 21
Output transferred to next process (%) 70% 60% -
Output sold at the end of the process (%) 30% 40% 100%
Selling price per unit of output sold (%) 65 88 110
Prepare three process Accounts.
OR
5. (A) The following information is available from records of a company as at 31 March, 2017 and 2018. 9
Particulars 2017 2018
T in lakhs T in lakhs
Sales 3,000 4,000
Profit 600 1,000
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Calculate :-
P/V Ratio
Fixed Cost
Break even sales in ¥
Sales required to earn profit of 2,000 lakhs
Profit for sales of 34,000 lakhs
Margin of safety when sales is 2,000 lakhs.
5. (B) Calculate material variances for the following :-
Standard - for 90 kg of finished output
Material 135 kg @ I12 per kg
Actual production — 81000 kgs
Material used — 1,24,000 kgs
Cost of material used — Z14,75,600

I e

6. (A) Explain the advantages of Cost Accounting.

(B) Explain the characteristics of the Non-integrated Cost Accounting Systems.

OR

6. Write short notes on (any four) :-

(a) Break Even Point

(b) Labour Turnover

(c) Retention Money

(d) Life Cycle Costing

(e) Bin card

(f) Significance of Variance Analysis.
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